

DIFFERENTIAL SUBORDINATION AND SUPERORDINATION FOR A FAMILY OF ANALYTIC FUNCTIONS DEFINED BY A NEW MULTIPLIER DIFFERENTIAL OPERATOR

BITRUS SAMBO¹ AND AYOTUNDE OLAJIDE LASODE^{2*}

ABSTRACT. In this paper, we introduce a new multiplier differential operator $\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu)$ in connection with a family of multivalent (or p -valent) functions defined in the unit disk $\mathcal{E} = \{z \in \mathbb{C} : |z| < 1\}$. Our investigations include the subordination, superordination and sandwich properties of functions in the new family. Finally, some key corollaries are reported.

1. INTRODUCTION AND PRELIMINARIES

Let $\mathcal{A}$ represent the family of functions $f(z)$ that are analytic in the unit disk $\mathcal{E} := \{z \in \mathbb{C} : |z| < 1\}$. Let $\mathcal{S}$ be the subfamily of $\mathcal{A}$ of analytic and univalent functions in $\mathcal{E}$, so that f is of the power series representation

$$f(z) = z + \sum_{k=2}^{\infty} a_k z^k, \quad z \in \mathcal{E}. \quad (1.1)$$

Also, let $\mathcal{A}(p)$ represent the family of functions of the power series representation

$$f(z) = z^p + \sum_{k=p+1}^{\infty} a_k z^k, \quad p \in \mathcal{N} := \{1, 2, 3, \dots\} \text{ and } z \in \mathcal{E} \quad (1.2)$$

which are analytic and multivalent (or p -valent) in $\mathcal{E}$. In the sequel, a function $f \in \mathcal{A}(p)$ is said to be a *multivalent convex function of order α* in $\mathcal{E}$ if it satisfies the condition

$$\Re \left\{ 1 + \frac{zf''(z)}{f'(z)} \right\} > \alpha, \quad 0 \leq \alpha < p, \quad p \in \mathcal{N} \text{ and } z \in \mathcal{E}. \quad (1.3)$$

We denote this family of functions by $\mathcal{C}_p(\alpha)$ so that by equivalence, $\mathcal{C}_1(\alpha) = \mathcal{C}(\alpha) \subset \mathcal{S}$.

Date: Received: Jul 5, 2023; Accepted: Aug 21, 2023.

* Corresponding author.

2010 *Mathematics Subject Classification.* Primary 30C45; Secondary 30C50.

Key words and phrases. Analytic functions, multivalent functions, convex functions, subordination, superordination, multiplier differential operator.

Let $f_1, f_2 \in \mathcal{A}$, then $f_1 \prec f_2$ if there is an analytic function

$$w(z) = \sum_{k=1}^{\infty} w_k z^k, \quad |w(z)| < 1, \quad w(0) = 0 \text{ and } z \in \mathcal{E}$$

such that

$$f_1(z) = f_2(w(z)) \iff f_1(0) = f_2(0) \text{ and } f_1(\mathcal{E}) \subset f_2(\mathcal{E}) \text{ for all } z \in \mathcal{E}.$$

Note that " $\prec$ " represents subordination. The function f_1 is called subordinate function while the function f_2 is called the superordinate function.

In view of the aforementioned definitions, we now present our novel multiplier differential operator as follows.

Definition 1.1. Let $p \in \mathcal{N}$; $m \in \mathcal{N}_0 := \{0, 1, 2, \dots\}$; $\alpha, \beta, \lambda \geq 0$; $0 \leq \gamma \leq \lambda$; $0 < \nu \leq 1$ and $\alpha + \beta > 0$, then for $f \in \mathcal{A}(p)$, we define the *multiplier differential operator* $\mathcal{D}_{\lambda, \mu}^{m, p}(\alpha, \beta, \gamma, \nu) : \mathcal{A}(p) \longrightarrow \mathcal{A}(p)$ by

$$\mathcal{D}_{\lambda, \mu}^{0, p}(\alpha, \beta, \gamma, \nu)f(z) = f(z) \quad (1.4)$$

$$\begin{aligned} (\alpha + \beta)\mathcal{D}_{\lambda, \mu}^{1, p}(\alpha, \beta, \gamma, \nu)f(z) &= [\alpha + \beta + \gamma - (2\nu - 1)(\lambda + \mu)]f(z) \\ &\quad - (p - 1)\lambda\gamma z^p + \frac{1}{p}[(2\nu - 1)(\lambda + \mu) - \gamma]zf'(z) + \lambda\gamma z^2 f''(z) \end{aligned} \quad (1.5)$$

therefore

$$\mathcal{D}_{\lambda, \mu}^{m, p}(\alpha, \beta, \gamma, \nu)f(z) = \mathcal{D}_{\lambda, \mu}(\alpha, \beta, \gamma, \nu)(\mathcal{D}_{\lambda, \mu}^{m-1, p}(\alpha, \beta, \gamma, \nu)f(z)), \quad m \in \mathcal{N} \quad (1.6)$$

and in general we have that

$$\mathcal{D}_{\lambda, \mu}^{m, p}(\alpha, \beta, \gamma, \nu)f(z) = z^p + \sum_{k=p+1}^{\infty} \left[\frac{\alpha + [(2\nu - 1)(\lambda + \mu) + \gamma(k\lambda - 1)](\frac{k}{p} - 1) + \beta}{\alpha + \beta} \right]^m a_k z^k \quad (1.7)$$

or for brevity we have

$$\mathcal{D}_{\lambda, \mu}^{m, p}(\alpha, \beta, \gamma, \nu)f(z) = z^p + \sum_{k=p+1}^{\infty} \Omega_{\lambda, \mu}^{m, p}(\alpha, \beta, \gamma, \nu) a_k z^k \quad (1.8)$$

where

$$\Omega_{\lambda, \mu}^{m, p}(\alpha, \beta, \gamma, \nu) = \left[\frac{\alpha + [(2\nu - 1)(\lambda + \mu) + \gamma(k\lambda - 1)](\frac{k}{p} - 1) + \beta}{\alpha + \beta} \right]^m.$$

Remark 1.2. A simple calculation shows that

$$\begin{aligned} \mathcal{D}_{\lambda, \mu}^{m+1, p}(\alpha, \beta, \gamma, \nu)f(z) &= \left\{ 1 - \frac{((2\nu - 1)(\lambda + \mu) - \gamma)}{\alpha + \beta} \right\} \mathcal{D}_{\lambda, \mu}^{m, p}(\alpha, \beta, \gamma, \nu)f(z) \\ &\quad - \frac{(p - 1)\lambda\gamma}{\alpha + \beta} z^p + \frac{((2\nu - 1)(\lambda + \mu) - \gamma)}{p(\alpha + \beta)} z(\mathcal{D}_{\lambda, \mu}^{m, p}(\alpha, \beta, \gamma, \nu)f(z))' \\ &\quad + \frac{\lambda\gamma}{p(\alpha + \beta)} z^2 (\mathcal{D}_{\lambda, \mu}^{m, p}(\alpha, \beta, \gamma, \nu)f(z))'' \end{aligned} \quad (1.9)$$

and secondly, the novel multiplier differential operator $\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu)$ generalizes many multiplier operators earlier studied by the following authors.

- (1) $\mathcal{D}_{\lambda,\mu}^{m,1}(\alpha, \beta, \gamma, \nu)f(z) = \mathcal{D}_{\lambda,\mu}^m(\alpha, \beta, \gamma, \nu)f(z)$ was studied by Alamoush [2].
- (2) $\mathcal{D}_{\lambda,0}^{m,p}(0, 1, 0, 1)f(z) = \mathcal{D}_{\sigma}^{m,p}f(z)$ was studied by Goyal and Goswami [12].
- (3) $\mathcal{D}_{1,0}^{m,1}(0, 1, 0, 1)f(z) = \mathcal{D}^m f(z)$ was studied by Sălăgean [22].
- (4) $\mathcal{D}_{1,0}^{m,1}(1, 1, 0, 1)f(z) = \mathcal{L}^m f(z)$ was studied by Uralegaddi and Somanatha [26].
- (5) $\mathcal{D}_{1,0}^{m,1}(\alpha, 1, 0, 1)f(z) = \mathcal{L}_{\alpha}^m f(z)$ was studied by Cho and Srivastava [8].
- (6) $\mathcal{D}_{\lambda,0}^{\rho,1}(0, 1, 0, 1)f(z) = \mathcal{D}_{\lambda}^{\rho} f(z)$ was studied by Acu and Owa [1].
- (7) $\mathcal{D}_{\lambda,0}^{m,1}(0, 1, 0, 1)f(z) = \mathcal{D}_{\lambda}^m f(z)$ was studied by Al-Oboudi [4].
- (8) $\mathcal{D}_{\lambda,0}^{\rho,1}(1, \beta, \gamma, 1)f(z) = \mathcal{L}_1(\rho, \lambda, \beta)f(z)$ was studied by Cătaş et al. [7].
- (9) $\mathcal{D}_{\lambda,0}^{m,1}(\alpha, 0, 0, 1)f(z) = \mathcal{D}_{\lambda}^m(\alpha)f(z)$ was studied by Aouf et al. [5].
- (10) $\mathcal{D}_{\lambda,0}^{m,1}(0, 1, 0, \frac{\alpha+\beta}{2})f(z) = \mathcal{D}_{\alpha,\beta,0,\lambda}^m f(z)$ was studied by Alamoush and Darus [3].
- (11) $\mathcal{D}_{\lambda,0}^{m,p}(0, 1, \gamma, 1)f(z) = \mathcal{D}_{\lambda,\gamma}^{m,p} f(z)$ was studied by Sambo and Meller [23].
- (12) $\mathcal{D}_{\lambda,0}^{m,1}(0, 1, \gamma, 1)f(z) = \mathcal{D}_{\lambda,\gamma}^m f(z)$ was studied by Raducanu and Orhan [21].
- (13) $\mathcal{D}_{\lambda,\mu}^{m,1}(\alpha, \beta, 0, 1)f(z) = \mathcal{D}_{\lambda}^m(\alpha, \beta, \mu)f(z)$ was studied by Darus and Faisal [9].
- (14) $\mathcal{D}_{\lambda,\mu}^{m,1}(\alpha, 0, 0, 1)f(z) = \mathcal{D}_{\lambda}^m(\alpha, \mu)f(z)$ was studied by Darus and Faisal [9].

Motivated by the works of the aforementioned authors and those in [6, 10, 11, 13, 14, 15, 18, 19, 20, 24, 27], we now investigate the subordination, superordination and sandwich properties of the multiplier differential operator. The notion of *differential superordination* was introduced by Miller and Mocanu in [17] which is an extension of the problem of *differential subordination* earlier presented in [16].

Definition 1.3 ([25]). Let $Y : \mathbb{C}^3 \times \mathcal{E} \rightarrow \mathbb{C}$ and let $h(z)$ be univalent in $\mathcal{E}$. If $p(z)$ is analytic in $\mathcal{E}$ and fulfills the second-order differential subordination

$$Y(p(z), zp'(z), z^2p''(z); z) \prec h(z), \quad (1.10)$$

then $p(z)$ is the differential subordination solution of (1.10).

Definition 1.4 ([25]). Let $Y_1 : \mathbb{C}^3 \times \mathcal{E} \rightarrow \mathbb{C}$ and let $h(z)$ be univalent in $\mathcal{E}$. If $p(z)$ and

$$Y_1(p(z), zp'(z), z^2p''(z); z)$$

are univalent in $\mathcal{E}$ and $p(z)$ fulfills the second-order differential superordination

$$h(z) \prec Y_1(p(z), zp'(z), z^2p''(z); z), \quad (1.11)$$

then $p(z)$ is the differential superordination solution of (1.11).

2. RELEVANT LEMMAS

We shall need the following lemmas to proof our results.

Lemma 2.1 ([25]). Let $\Psi(z)$ be convex in $\mathcal{E}$, $\eta_1 \in \mathbb{C}$ and $\eta_2 \in \mathbb{C}^*$ with

$$\Re \left(1 + \frac{\Psi''(z)}{\Psi'(z)} \right) > \max \left\{ 0, -\Re \frac{\eta_1}{\eta_2} \right\}.$$

If $\Phi(z)$ is analytic in $\mathcal{E}$ and

$$\eta_1 \Phi(z) + \eta_2 z \Phi'(z) \prec \eta_1 \Psi(z) + \eta_2 z \Psi'(z),$$

then $\Phi(z) \prec \Psi(z)$.

Lemma 2.2 ([17]). Let $\Psi(z)$ be convex in $\mathcal{E}$ and $\Re \eta > 0$. If $\Phi(z) \in A[\Psi(0), 1] \cap \mathcal{Q}$, $\Phi(z) + \eta z \Phi'(z)$ is univalent in $\mathcal{E}$ and

$$\Psi(z) + \eta z \Psi'(z) \prec \Phi(z) + \eta z \Phi'(z),$$

then $\Psi(z) \prec \Phi(z)$.

3. MAIN RESULTS

From now on, we assume that all parameters are as defined in Definition 1.1.

Theorem 3.1. Let $\Psi(z)$ be convex univalent in $\mathcal{E}$ with $\Psi(0) = 1$, $\omega_1 > 0$, $0 \neq \omega_2 \in \mathbb{C}$ and suppose

$$\Re \left\{ 1 + \frac{\Psi''(z)}{\Psi'(z)} \right\} > \max \left\{ 0, -\Re \frac{\omega_1}{\omega_2} \right\}. \quad (3.1)$$

If $f \in \mathcal{A}(p)$ and satisfies the subordination

$$\begin{aligned} & \left\{ 1 - \omega_2 \frac{((2\nu - 1)(\lambda + \mu) - \gamma)}{\lambda\gamma} + (p - 1) \right\} \left\{ \frac{(\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu)f(z))'}{pz^{p-1}} \right\}^{\omega_1} + \\ \omega_2 & \left\{ \frac{\frac{p(\alpha+\beta)}{\lambda\gamma}(\mathcal{D}_{\lambda,\mu}^{m+1,p}(\alpha, \beta, \gamma, \nu)f(z)) + p(p-1)z^p + \left\{ \frac{p[(2\nu-1)(\lambda+\mu) - (\alpha+\beta+\gamma)]}{\lambda\gamma} \right\} \mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu)f(z)}{z(\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu)f(z))'} \right. \\ & \left. \left\{ \frac{(\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu)f(z))'}{pz^{p-1}} \right\}^{\omega_1} \right\} \prec \Psi(z) + \frac{\omega_2}{\omega_1} z \Psi'(z), \end{aligned}$$

then

$$\left\{ \frac{(\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu)f(z))'}{pz^{p-1}} \right\}^{\omega_1} \prec \Psi(z).$$

Proof. Let $q(z) = \left\{ \frac{(\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu)f(z))'}{pz^{p-1}} \right\}^{\omega_1}$, then

$$\begin{aligned} q'(z) &= \omega_1 \left\{ \frac{(\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu)f(z))'}{pz^{p-1}} \right\}^{\omega_1} \left\{ \frac{pz^{p-1}}{(\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu)f(z))'} \right\} \\ & \quad \frac{pz^{p-1}(\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu)f(z))'' - (p(p-1)z^{p-2})(\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu)f(z))'}{(pz^{p-1})^2} \end{aligned}$$

$$= \omega_1 \left\{ \frac{(\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu)f(z))'}{pz^{p-1}} \right\}^{\omega_1} \left\{ \frac{z(\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu)f(z))''}{z(\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu)f(z))'} - \frac{(p-1)}{z} \right\}$$

which implies that

$$\frac{zq'(z)}{q(z)} = \omega_1 \left\{ \frac{z^2(\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu)f(z))''}{z(\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu)f(z))'} - (p-1) \right\}.$$

Using (1.9), then we obtain

$$\begin{aligned} \frac{zq'(z)}{q(z)} &= \omega_1 \left\{ \frac{\frac{p(\alpha+\beta)}{\lambda\gamma}(\mathcal{D}_{\lambda,\mu}^{m+1,p}(\alpha, \beta, \gamma, \nu)f(z)) + \left\{ \frac{p[(2\nu-1)(\lambda+\mu)-(\alpha+\beta+\gamma)]}{\lambda\gamma} \right\} \mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu)f(z)}{z(\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu)f(z))'} \right. \\ &\quad \left. + \frac{p(p-1)z^p - \frac{((2\nu-1)(\lambda+\mu)-\gamma)}{\lambda\gamma} z(\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu)f(z))'}{z(\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu)f(z))'} - (p-1) \right\} \\ &= \omega_1 \left\{ \frac{\frac{p(\alpha+\beta)}{\lambda\gamma}(\mathcal{D}_{\lambda,\mu}^{m+1,p}(\alpha, \beta, \gamma, \nu)f(z)) + p(p-1)z^p + \left\{ \frac{p[(2\nu-1)(\lambda+\mu)-(\alpha+\beta+\gamma)]}{\lambda\gamma} \right\} \mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu)f(z)}{z(\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu)f(z))'} \right. \\ &\quad \left. - \left\{ \frac{((2\nu-1)(\lambda+\mu)-\gamma)}{\lambda\gamma} + (p-1) \right\} \right\} \end{aligned}$$

so that

$$\begin{aligned} \frac{\omega_2 zq'(z)}{\omega_1} &= \\ \omega_2 \left\{ \frac{\frac{p(\alpha+\beta)}{\lambda\gamma}(\mathcal{D}_{\lambda,\mu}^{m+1,p}(\alpha, \beta, \gamma, \nu)f(z)) + p(p-1)z^p + \left\{ \frac{p[(2\nu-1)(\lambda+\mu)-(\alpha+\beta+\gamma)]}{\lambda\gamma} \right\} \mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu)f(z)}{z(\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu)f(z))'} \right. \\ &\quad \left. \left\{ \frac{(\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu)f(z))'}{pz^{p-1}} \right\}^{\omega_1} \right\} \\ &\quad - \left\{ \left\{ \omega_2 \frac{((2\nu-1)(\lambda+\mu)-\gamma)}{\lambda\gamma} + (p-1) \right\} \left\{ \frac{(\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu)f(z))'}{pz^{p-1}} \right\}^{\omega_1} \right\}. \end{aligned}$$

Using the hypothesis

$$q(z) + \frac{\omega_2}{\omega_1} zq'(z) \prec \Psi(z) + \frac{\omega_2}{\omega_1} z\Psi'(z)$$

and applying Lemma 2.1 with $\eta_1 = 1$ and $\eta_2 = \frac{\omega_2}{\omega_1}$ complete the proof. $\square$

Corollary 3.2. *Let $\Psi(z)$ be convex univalent in $\mathcal{E}$ with $\Psi(0) = 1$, $\omega_1 > 0$, $0 \neq \omega_2 \in \mathbb{C}$ and suppose*

$$\Re \left\{ 1 + \frac{\Psi''(z)}{\Psi'(z)} \right\} > \max \left\{ 0, -\Re \frac{\omega_1}{\omega_2} \right\}. \quad (3.2)$$

If $f \in \mathcal{A}(p)$ and satisfies the subordination

$$\left\{ 1 - \omega_2 \frac{((2\nu - 1)(\lambda + \mu) - \gamma)}{\lambda\gamma} + (p - 1) \right\} \left\{ \frac{(\mathcal{D}_{\lambda,\gamma}^{m,p} f(z))'}{pz^{p-1}} \right\}^{\omega_1} \\ + \omega_2 \left\{ \frac{\frac{p(\alpha+\beta)}{\lambda\gamma} (\mathcal{D}_{\lambda,\gamma}^{m,p} f(z)) + p(p-1)z^p + \left\{ \frac{p[(2\nu-1)(\lambda+\mu) - (\alpha+\beta+\gamma)]}{\lambda\gamma} \right\} \mathcal{D}_{\lambda,\gamma}^{m,p} f(z)}{z(\mathcal{D}_{\lambda,\gamma}^{m,p} f(z))'} \right. \\ \left. \left\{ \frac{(\mathcal{D}_{\lambda,\gamma}^{m,p} f(z))'}{pz^{p-1}} \right\}^{\omega_1} \right\} \prec \Psi(z) + \frac{\omega_2}{\omega_1} z \Psi'(z),$$

then

$$\left\{ \frac{(\mathcal{D}_{\lambda,\gamma}^{m,p} f(z))'}{pz^{p-1}} \right\}^{\omega_1} \prec \Psi(z).$$

Theorem 3.3. Let $\Psi(z)$ be convex univalent in $\mathcal{E}$ with $\Psi(0) = 1$, $\omega_1 > 0$, $\Re \omega_2 > 0$. If $f \in \mathcal{A}(p)$,

$$\left\{ \frac{(\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu) f(z))'}{pz^{p-1}} \right\}^{\omega_1} \in \Theta[q(0), 1] \cap Q \quad (3.3)$$

and

$$\left\{ 1 - \omega_2 \frac{((2\nu - 1)(\lambda + \mu) - \gamma)}{\lambda\gamma} + (p - 1) \right\} \left\{ \frac{(\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu) f(z))'}{pz^{p-1}} \right\}^{\omega_1} \\ + \omega_2 \left\{ \frac{\frac{p(\alpha+\beta)}{\lambda\gamma} (\mathcal{D}_{\lambda,\mu}^{m+1,p}(\alpha, \beta, \gamma, \nu) f(z)) + p(p-1)z^p + \left\{ \frac{p[(2\nu-1)(\lambda+\mu) - (\alpha+\beta+\gamma)]}{\lambda\gamma} \right\} \mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu) f(z)}{z(\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu) f(z))'} \right. \\ \left. \left\{ \frac{(\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu) f(z))'}{pz^{p-1}} \right\}^{\omega_1} \right\}$$

is univalent in $\mathcal{E}$ and satisfies the superordination

$$\Psi(z) + \frac{\omega_2}{\omega_1} z \Psi'(z) \prec \left\{ 1 - \omega_2 \frac{((2\nu - 1)(\lambda + \mu) - \gamma)}{\lambda\gamma} + (p - 1) \right\} \left\{ \frac{(\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu) f(z))'}{pz^{p-1}} \right\}^{\omega_1} \\ + \omega_2 \left\{ \frac{\frac{p(\alpha+\beta)}{\lambda\gamma} (\mathcal{D}_{\lambda,\mu}^{m+1,p}(\alpha, \beta, \gamma, \nu) f(z)) + p(p-1)z^p + \left\{ \frac{p[(2\nu-1)(\lambda+\mu) - (\alpha+\beta+\gamma)]}{\lambda\gamma} \right\} \mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu) f(z)}{z(\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu) f(z))'} \right. \\ \left. \left\{ \frac{(\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu) f(z))'}{pz^{p-1}} \right\}^{\omega_1} \right\},$$

then

$$\Psi(z) \prec \left\{ \frac{(\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu) f(z))'}{pz^{p-1}} \right\}^{\omega_1}.$$

Proof. Let $q(z) = \left\{ \frac{(\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu)f(z))'}{pz^{p-1}} \right\}^{\omega_1}$, then

$$\begin{aligned} q'(z) &= \omega_1 \left\{ \frac{(\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu)f(z))'}{pz^{p-1}} \right\}^{\omega_1} \left\{ \frac{pz^{p-1}}{(\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu)f(z))'} \right\} \\ &\quad \frac{pz^{p-1}(\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu)f(z))'' - (p(p-1)z^{p-2})(\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu)f(z))'}{(pz^{p-1})^2} \\ &= \omega_1 \left\{ \frac{(\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu)f(z))'}{pz^{p-1}} \right\}^{\omega_1} \left\{ \frac{z(\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu)f(z))''}{z(\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu)f(z))'} - \frac{(p-1)}{z} \right\} \end{aligned}$$

implies that

$$\frac{zq'(z)}{q(z)} = \omega_1 \left\{ \frac{z^2(\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu)f(z))''}{z(\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu)f(z))'} - (p-1) \right\}.$$

Using the hypothesis

$$\Psi(z) + \frac{\omega_2}{\omega_1} z\Psi'(z) \prec q(z) + \frac{\omega_2}{\omega_1} zq'(z)$$

and applying Lemma 2.2 complete the proof. $\square$

Corollary 3.4. *Let $\Psi(z)$ be convex univalent in $\mathcal{E}$ with $\Psi(0) = 1$, $\omega_1 > 0$, $\Re \omega_2 > 0$. If $f \in \mathcal{A}(p)$, then*

$$\left\{ \frac{(\mathcal{D}_{\lambda,\gamma}^{m,p}f(z))'}{pz^{p-1}} \right\}^{\omega_1} \in \Theta[q(0), 1] \cap \mathcal{Q} \quad (3.4)$$

and

$$\begin{aligned} &\left\{ 1 - \omega_2 \frac{((2\nu-1)(\lambda+\mu)-\gamma)}{\lambda\gamma} + (p-1) \right\} \left\{ \frac{(\mathcal{D}_{\lambda,\gamma}^{m,p}f(z))'}{pz^{p-1}} \right\}^{\omega_1} \\ &+ \omega_2 \left\{ \frac{\frac{p(\alpha+\beta)}{\lambda\gamma}(\mathcal{D}_{\lambda,\gamma}^{m,p}f(z)) + p(p-1)z^p + \left\{ \frac{p[(2\nu-1)(\lambda+\mu)-(\alpha+\beta+\gamma)]}{\lambda\gamma} \right\} \mathcal{D}_{\lambda,\gamma}^{m,p}f(z)}{z(\mathcal{D}_{\lambda,\gamma}^{m,p}f(z))'} \right. \\ &\quad \left. \left\{ \frac{(\mathcal{D}_{\lambda,\gamma}^{m,p}f(z))'}{pz^{p-1}} \right\}^{\omega_1} \right\} \end{aligned}$$

is univalent in $\mathcal{E}$ and satisfies the superordination

$$\begin{aligned} \Psi(z) + \frac{\omega_2}{\omega_1} z\Psi'(z) &\prec \left\{ 1 - \omega_2 \frac{((2\nu-1)(\lambda+\mu)-\gamma)}{\lambda\gamma} + (p-1) \right\} \left\{ \frac{(\mathcal{D}_{\lambda,\gamma}^{m,p}f(z))'}{pz^{p-1}} \right\}^{\omega_1} \\ &+ \omega_2 \left\{ \frac{\frac{p(\alpha+\beta)}{\lambda\gamma}(\mathcal{D}_{\lambda,\gamma}^{m,p}f(z)) + p(p-1)z^p + \left\{ \frac{p[(2\nu-1)(\lambda+\mu)-(\alpha+\beta+\gamma)]}{\lambda\gamma} \right\} \mathcal{D}_{\lambda,\gamma}^{m,p}f(z)}{z(\mathcal{D}_{\lambda,\gamma}^{m,p}f(z))'} \right. \\ &\quad \left. \left\{ \frac{(\mathcal{D}_{\lambda,\gamma}^{m,p}f(z))'}{pz^{p-1}} \right\}^{\omega_1} \right\}, \end{aligned}$$

then

$$\Psi(z) \prec \left\{ \frac{(\mathcal{D}_{\lambda,\gamma}^{m,p} f(z))'}{pz^{p-1}} \right\}^{\omega_1}.$$

By combining the two results in Theorems 3.1 and 3.3, we obtain

Theorem 3.5. *Let $\Psi_1(z), \Psi_2(z)$ be convex univalent in $\mathcal{E}$, with $\Psi_1(0) = 1 = \Psi_2(0)$, $\Re \omega_2 > 0$,*

$$\Re \left\{ 1 + \frac{q''(z)}{q'(z)} \right\} > \max \left\{ 0, -\Re \frac{\omega_1}{\omega_2} \right\}, \quad (3.5)$$

$\omega_1 > 0$ and $0 \neq \omega_2 \in \mathbb{C}$. If $f \in \mathcal{A}(p)$, then

$$\left\{ \frac{(\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu) f(z))'}{pz^{p-1}} \right\}^{\omega_1} \in \Theta[1, 1] \cap \mathcal{Q} \quad (3.6)$$

and

$$\begin{aligned} & \left\{ 1 - \omega_2 \frac{((2\nu - 1)(\lambda + \mu) - \gamma)}{\lambda\gamma} + (p - 1) \right\} \left\{ \frac{(\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu) f(z))'}{pz^{p-1}} \right\}^{\omega_1} \\ & + \omega_2 \left\{ \frac{\frac{p(\alpha+\beta)}{\lambda\gamma} (\mathcal{D}_{\lambda,\mu}^{m+1,p}(\alpha, \beta, \gamma, \nu) f(z)) + p(p-1)z^p + \left\{ \frac{p[((2\nu-1)(\lambda+\mu))-(\alpha+\beta+\gamma)]}{\lambda\gamma} \right\} \mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu) f(z)}{z(\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu) f(z))'} \right. \\ & \quad \left. \left\{ \frac{(\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu) f(z))'}{pz^{p-1}} \right\}^{\omega_1} \right\} \end{aligned}$$

is univalent in $\mathcal{E}$ and satisfies

$$\begin{aligned} & \Psi_1(z) + \frac{\omega_2}{\omega_1} z \Psi_1'(z) \prec \left\{ 1 - \omega_2 \frac{((2\nu - 1)(\lambda + \mu) - \gamma)}{\lambda\gamma} + (p - 1) \right\} \left\{ \frac{(\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu) f(z))'}{pz^{p-1}} \right\}^{\omega_1} \\ & + \omega_2 \left\{ \frac{\frac{p(\alpha+\beta)}{\lambda\gamma} (\mathcal{D}_{\lambda,\mu}^{m+1,p}(\alpha, \beta, \gamma, \nu) f(z)) + p(p-1)z^p + \left\{ \frac{p[((2\nu-1)(\lambda+\mu))-(\alpha+\beta+\gamma)]}{\lambda\gamma} \right\} \mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu) f(z)}{z(\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu) f(z))'} \right. \\ & \quad \left. \left\{ \frac{(\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu) f(z))'}{pz^{p-1}} \right\}^{\omega_1} \right\} \prec \Psi_2(z) + \frac{\omega_2}{\omega_1} z \Psi_2'(z), \end{aligned}$$

then

$$\Psi_1(z) \prec \left\{ \frac{(\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu) f(z))'}{pz^{p-1}} \right\}^{\omega_1} \prec \Psi_2(z).$$

CONCLUSION

In this work, we introduced a novel multiplier differential operator denoted by $\mathcal{D}_{\lambda,\mu}^{m,p}(\alpha, \beta, \gamma, \nu)$. It was shown that the multiplier differential operator generalizes many existing differential operators. Further, our main investigations covered the subordination, superordination and sandwich properties.

REFERENCES

1. M. Acu and S. Owa, *Note on a class of starlike functions*, Kyoto University Journal **1538** (2006), 1–10.
2. A.G. Alamoush, *Univalent functions defined by a generalized multiplier differential operator*, Earthline Journal of Mathematical Sciences **2**(1) (2019), 1–13.
3. A. Alamoush and M. Darus, *New criteria for certain classes containing generalized differential operator*, Journal of Quality Measurement and Analysis **9**(2) (2013), 59–71.
4. F.M. Al-Oboudi, *On univalent functions defined by a generalized differential operator*, International Journal of Mathematics and Mathematical Sciences **2004**(27) (2004), 1429–1436.
5. M.K. Aouf, R.M. El-Ashwah and S.M. El-Deeb, *Some inequalities for certain p -valent functions involving extended multiplier transformation*, Proceeding of Pakistan Academy of Sciences **46** (2009), 217–221.
6. W.G. Atshan, I.A. Abbas and S. Yalcin, *New concept on fourth-order differential subordination and superordination with some results for multivalent analytic functions*, Journal of Al-Qadisiyah for Computer Science and Mathematics **12** (2020), 96–107.
7. A. Cătaş, G.I. Oros and G. Oros, *Differential subordinations associated with multiplier transformations*, Abstract and Applied Analysis **2008** Article ID 845724 (2008), 1–11.
8. N.E. Cho and H.M. Srivastava, *Argument estimates of certain analytic functions defined by a class of multiplier transformations*, Mathematical and Computer Modelling **37** (2003), 39–49.
9. M. Darus and I. Faisal, *Problems concerning subclasses of analytic functions*, Acta Universitatis Palackianae Olomucensis Facultas **51** (2012), 35–42.
10. R.M. El-Ashwah and M.E. Drbuk, *Subordinations properties of p -valent functions defined by Linear operators*, British Journal of Mathematics & Computer Science **21** (2014), 3000–3013.
11. R.M. El-Ashwah and W.Y. Kota, *Inclusion and subordinations properties for classes of multivalent functions involving differential-integral operator*, Information Sciences Letters **11**(1) (2022), 46–60.
12. S.P. Goyal and P. Goswami, *Some relations between certain classes of analytic multivalent functions involving generalized Sălăgean operator*, Sohag Journal of Mathematics **1**(1) (2014), 27–32.
13. A.O. Lasode and T.O. Opoola, *On a generalized class of bi-univalent functions defined by subordination and q -derivative operator*, Open Journal of Mathematical Analysis **5**(2) (2021), 46–52.
14. A.O. Lasode and T.O. Opoola, *Some properties of a family of univalent functions defined by a generalized Opoola differential operator*, General Mathematics **30**(1) (2022), 3–13.
15. A.O. Lasode and T.O. Opoola, *Some investigations on a class of analytic and univalent functions involving q -differentiation*, European Journal of Mathematical Analysis **2**(12) (2022), 1–9.
16. S.S. Miller and P.T. Mocanu, *Differential Subordinations, Theory and Applications*, Marcel Dekker Inc., New York, 2000.
17. S.S. Miller and P.T. Mocanu, *Subordinants of differential superordinations*, Complex Variables, Theory and Application **48**(10) (2003), 815–826.
18. E.A. Oyekan and I.T. Awolere, *A new subclass of univalent functions connected with convolution defined via employing a linear combination of two generalized differential operators involving sigmoid function*, Maltepe Journal of Mathematics **2**(2) (2020), 82–96.
19. E.A. Oyekan and A.O. Lasode, *Estimates for some classes of analytic functions associated with Pascal distribution series, error function, Bell numbers and q -differential operator*, Nigerian Journal of Mathematics and Applications **32** (2022), 163–173.
20. E.A. Oyekan, S.R. Swamy, P.O. Adepoju and T.A. Olatunji, *Quasi-convolution properties of a new family of close-to-convex functions involving a q - p -Opoola differential operator*, International Journal of Mathematics Trends and Technology **69**(5) (2023), 70–77.

21. D. Raducanu and H. Orhan, *Subclasses of analytic functions defined by a generalized differential operator*, International Journal of Mathematical Analysis **4**(1-4) (2010), 1–15.
22. G.S. Sălăgean, *Subclasses of univalent functions*, Lecture Notes in Mathematics **1013** (1983), 362–372.
23. B. Sambo and G.B. Meller, *On certain subclasses of p -valent functions with negative coefficients defined by a generalized differential operator*, Open Journal of Mathematical Analysis **3**(2) (2019) 32–41.
24. B. Sambo, A. Sanda and S.O. Oladejo, *On a new subclass of multivalent functions defined by using generalized Raducanu-Orhan differential operator*, Global Journal of Pure and Applied Mathematics **15**(4) (2019), 453–467.
25. T. Shanmugam, V. Ravichadran and S. Sivasubramanian, *Differential sandwich theorems for subclasses of analytic functions*, Australian Journal of Mathematical Analysis and Applications **3**(1) (2006), 1–11.
26. B.A. Uralegaddi and C. Somanatha, *Certain classes of univalent functions*, Current Topics in Analytic Function Theory, River Edge, World Scientific, USA, pp. 371–374, 1992.
27. H.M. Zayed, M.K. Aouf and A.O. Mostafa, *Subordination properties for multivalent functions associated with a generalized fractional differintegral operator*, Axioms **7**(27) (2018), 13 pages.

¹ DEPARTMENT OF MATHEMATICS, GOMBE STATE UNIVERSITY, P.M.B. 127, GOMBE, NIGERIA.

Email address: bitrussambo3@gmail.com

² DEPARTMENT OF MATHEMATICS, UNIVERSITY OF ILORIN, P.M.B. 1515, ILORIN, NIGERIA.

Email address: lasode_ayo@yahoo.com